int sensorPin = A5;
const int led[] = {13, 12, 11, 10, 9, 8, 7};
const int thresholds[] = {130, 110, 90, 70, 50, 30, 10%;

// const int thresholds[] = {200, 175, 150, 125, 100, 75,

const int TedNumber = 7;
int ledon = 0;

void setup()
for (int i = 0; i < ledNumber; i++)
pinMode(led[i], OUTPUT);
}
void Toop()
{ int sensorvalue = analogRead(sensorpPin);

Tedon = 0;
for (int 1 = 0; i < ledNumber; i++)

if (sensorvalue > thresholds[i]) Tedon++;

for (int i = 0; i < ledon; i++)

digitalwrite(led[i], HIGH);

for (int i = ledon; i < TedNumber; i++)

digitalwrite(led[i], LOW);
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